IKM B5-S Series
B {TiRR

H H LRl KM50B5-S ‘ KM80B5-S ‘KM1OOBS-S KM140B5-S KM180B5-S | KM220B5-S | KM280B5-S | KM360B5-S
BN kN 490 784 980 1,372 1,764 2,156 2,744 3,528
1\ —EkE (HxV) mm 310%310 360%360 410x410 510%x510 560%560 610%x610 660%660 760%760
ERETE(HXV) mm 450%445 530x525 590x585 680x675 750%745 820x815 910%905 1,050%1,045
BB ~O—2 mm 250 300 350 400 470 530 600 700
RIERES/RASEES | mm 150/350 180/400 180/420 200/510 200/520 250/570 300/620 300/670
IVzy9Z2bO—Y mm 60 70 85 100 110 120 130 150
IVII97 kN 2459 26.5 325 38.7 .0 60.5 68.9 107.7
SHazvk - s50 s80 s100 s140 s180 s220 s280 s360
AUV EE mm 1225/ 25 |28 | 30| 34 | 36|36 40 | 45|40 | 45 | 50 | 45 | 50 | 55 | 50 | 55 | 63 | 55 | 63 | 70 [ 63 | 70 | 80
SHHER MPa | 308|250 | 199|247 | 196 | 176 | 211 | 198 | 156 | 222 | 194 | 157 | 217 | 194 | 161 | 210| 192 | 146 | 204 | 172 | 140 (194 | 174 | 133
iR cm® | 42 | 52 | 65 | 92 | 117 |132| 152|188 | 238 | 213|270 | 333 | 302 | 372 | 451 | 412| 498 | 654 | 569 | 747 | 923 |825 |1,019/1,331
S cm’/sec | 43 | 53 | 66 | 83 | 106 | 119|134 [ 166 | 210 | 134 | 170 | 209 | 174 | 215 | 260 | 179| 217 | 285 | 236|309 | 381 | 248 | 306 | 400
RE(4:0] kg/h 119 | 22 |30 | 36 | 52 | 56 | 69 | 90 | 113 | 82 | 111 | 135|106 | 139 | 165 | 123| 157 | 209 | 143|203 | 245 | 167 | 216 | 244
P PEv =t mm 105 130 150 170 190 210 240 265
AV 1 EEEE Pm 40~260 40~255 40~290 40~270 40~260 40~230 40~210 40~145
Ry R—FRE(17YaY) L. 30 30 30 45 60 60 90 90
HER 7EEBHES | kw 8.64 16 22 22 29 29 38 33
E—5—8&n kW 4.91 7.55 8.95 11.5 141 171 19.6 24.4
HIEIRES kW 128 1.3 1l 1.3 1.3 18 1) 1.3
REAN kW 14.85 24.85 32.25 34.8 44.4 47.4 53.9 58.7
TEEDMIFTR L 130 155 165 190 220 260 340 440

L | mm 3,408 3,630 4,220 4,915 5,378 5,870 6,725 7,526
A W | mm 1,015 1,035 {15192 1,332 1,396 1,464 1,647 1,810
H | mm 1,773 1,778 1,843 1,948 2,068 2,113 2,228 2,243
HBES ton 3.0 3.4 4.4 6.2 5 9.0 1272 16.4

M ARROEBT AV EHROR. FEREETEIENHBDET,

X2 HRRAIEDEL, B (RHTL— M) 2RRUTVET,

XS ALRAEBR RO T, (FEH. AR E TOBRLR. AT KREM RO TRELUE TIEERRUE A,
%4.1Mpa=10kgf/cni, TKN=0.1tf,



